JSW1

5330 B IR IR

QQ/J BK

e A

e EE
o HFAimE: 60I/min (3.6 m3/h)
* R=mE: 48 m

iIZFEE

BEARRIE: 9m (HS)
ANERRE: -10 °C ~+40 °C
INERE: +40°C
BATI(EES: 6 bar

B THE S1

ZRNELiRgE

EN 60335-1 EN 60034-1
IEC 60335-1 IEC 60034-1
CEI 61-150 CEl2-3
INIE

PEIAR R+t (DNV ) B IR{ARZIALE
E=: 1SO 9001
NE5%4: 1SO 14001

Ce

L &

LRMER

KFETHEASU LB IRERRIR. JSSWRFLARTLUHE S
BLEZSHRIK, KRERTSE. e 5 @A THREM
K E0: UNBUE SRS IK , e AR E .

KRNELRERARER , FEDBHBREETTSIRIT.

7 - ioiF - B S
. _ “ads
o SEAESHRE 013073135 JSW®
o ERESSTARISITE 002218610-0001
° RUMEFIS 1510 696

..‘E!
(3

SRR EYIHE
HEEER 60Hz i



S PEDROUO
-

the spring of life

HRLRASEFN S8R 50Hz n=2900rpm HS=0m
(\) | \5 | 1\0 | 1\5 | us gp
0 § Imp g.p.m.
50 i 7feet
wdy f
s JISW1 |
JSW1A i
40 I
125
L 35| JswiB |
zK/ |
" JSwic i
o 100
S ,
w |
g
k) i
g f
75
I -
3 ,
I =
15 -50
10 I
25
; |
0 5 10 15 20 25 30 35 40 45 50 55 60 I/min
(\) T T 0\5 T T T T T T T T 1\5 T T T T T T T T 2\5 T T T T T T T T 3\5 T T \ma/h\
Flow rate Q-iE£Q»
BS I (P2) m¥h 0 0.3 0.6 1.2 1.5 1.8 2.4 2.7 3.0 36
EAtH =18 kw HP I/min 0 5 10 20 25 30 40 45 50 60
JSWm 1C JSW1cC 0.37 050 35 32 285 235 21 18.5 15 13.5 12 10
JSWm 1B JSW1B 048 | 0.65 | H metres 37 34 305 | 255 23 20.5 17 15.5 14 12
JSWm1A  JSW1A 0.55 | 0.75 48 43 39 315 285 26 22 20.5 19 17

Q=wE H=1E HS=I}E

IR

FHZRASIENZERTS EN ISO 9906 3B4%.




we. Hit LEAYS1E
1 RBR PEERFRIKALER, RFARISO 228/1 Buuzn
2 ERREIRS AISI 304A554N
3 MEE FE1520PWER &)
4 Mg AISI 3044555
5 EHlid EN 10088-3 - 1.4104 54K
6 s i i *E
BE BfE #HIR R BR
AR-12 @12mm & A= NBR
7 KR 62012Z/62012Z
8 HWHE R BE
515 230V or 240 V) (110V)
JSWm 1C 10 uF-450VL 25 pF - 250 VL
JSWm 1B 12.5 uF - 450 VL 25 pF - 250 VL
JSWm 1A 14 pF-450VL 25 pF-250VL
9 HH JSWm: 248230 V - 50 Hz Se4Hp BT RP

JSW: =#%H 230/400V - 50 Hz
- EBRER FR
- BHIPEEL: IP X4




S PEDROUO
-

the spring of life

RIMES

2 =
BE as R~ mm kg
==Fic] = DN1 | DN2 a f h h1 h2 h3 n nl w s 1~ 3~
JSWm 1C JSW1C 2.9 9.9
JSWm 1B JSW 1B 1 1 94 352 171 127 33 160 158 124 24 10 10.0 10.0
JSWm 1A JSW1A 10.6 10.0
WA
BE BE s BE
J=2p 2] 230V 240V 110V =i 230V 400V | 690V = 240V = 415V | 720V
JSWm 1C 2.8A 2.7A 5.6 A JSW 1C 21A | 1.2A  07A  20A 11A  0.6A
JSWm 1B 3.1A 3.0A 6.0A JSW 1B 23A 13A 0.8A | 22A 12A 0.7A
JSWm 1A 3.9A 3.8A 7.3A JSW 1A 3.0A  17A  10A 29A  16A 09A
B
g = HEKRHE BIEKREHE
JSWm 1C JSW1C 98 140
JSWm 1B JSW 1B 98 140
JSWm 1A JSW1A 98 140




JSW2
IFENERN=NER]

&, B
;e

B

HEaEBE
o B AMRE:701/min (4.2 m3/h)
* R=HE:58m

BEARE: 9m (HS)
NERRE: -10 °C ~+40 °C
INMERE: +40 °C
BATI{EES: 6 bar

iZFEE
°
°
°
°
o FHET(F S1

ZRNZLiRgE

EN 60335-1 EN 60034-1
IEC 60335-1 IEC 60034-1
CEI 61-150 CEl2-3
INIE

PEIAR R+t (DNV ) B IR{ARZIALE
E=: 1SO 9001
NE5%4: 1SO 14001

Ce

L &

LRMER

KFETHEASU LB IRERRIR. JSSWRFLARTLUHE S
BLEZSHRIK, KRERTSE. e 5 @A THREM
K E0: UNBUE SRS IK , e AR E .

KRNELRERARER , FEDBRBRETTSIRIT.

7 - ioiR- B8
_ aber
o SEAESHRE 013073135 JSW®
o EUES;IARiZITE 002218610-0002
o RREALFIE1 510 696

A%
o HETEER60HZIfE

* BMRERGYIHE



S PEDROUO
-

the spring of life
HRLRASEFN S8R 50Hz n=2900rpm HS=0m
(\) | | | | | | 1\0 | | | | 1\5 | | | U\S g-p-m.
0 5 10 15 Imp g.p.m.
60 : : : g - feet
JSW2A i
55 JSW2 |
175
JSW2B 5
50 i
JSW2c i
a 150
> 45
ZK/ o
il i
N 40 i
= -125
E |
o i
g i
T i
I -
25 i
75
20 -
15 50
0 5 10 15 20 25 30 35 40 45 50 55 60 65 70  I/min
[ T T T T 0\5 T T % T T 1\5 T T T T 2\ T T T T 2\5 T T T T 3\ T T T T 3\5 T T T T ‘\‘ T T T ‘mﬁ/h‘
Flow rate Q-i=Q»
BS I (P2) m*%h 03 06 | 12 15 | 18 24 | 27 | 30 36 42
g = kw HP I/mn o0 5 10 20 25 30 40 45 50 60 70
JSWm 2C JSw 2c 0.75 1 50 47 44 385 36 34 | 295 275 26 | 225 20
JSWm 2B JSwW 2B 0.90 1.25 | H metres 54 51 48 | 425 | 40 38 335 315 30 265 24
JSWm 2A JSW 2A 1.1 1.5 58 55 52 | 465 @ 44 42 375 | 355 34 31 28

Q=& H=131E HS=E

tERS

FZRASFIENZERTS EN ISO 9906 3B4%.




we. Hit LEAYS1E
55 PEEREEKALIR, FFEISO 228/1 124z
FRlEinE AISI 3044555K
1551173 FE1520PWEZ S
ntig AISI 30445550
/s EN 10088-3 - 1.4104 454N
kA5 = i *E
BE B 27 R B
AR-14 @ 14 mm FFE Yok NBR
iR 6203 ZZ /6203 ZZ
BE £~ BE
E7 (230 V or 240 V) (110v)
JSWm 2C 60 uF - 300 VL 60 uF - 300 VL
JSWm 2B 60 pF - 300 VL 60 pF - 300 VL
JSWm 2A 60 pF - 300 VL 60 pF - 300 VL
BN JSWm: B248 230 V - 50 Hz S4B B iTHyRIP

JSW:  =#§ 230/400 V - 50 Hz.

e JKERESHC IE2 (IEC 60034-30) =30
-BEER FR

- BHIPER: IP X4




S PEDROUO
-

the spring of life

RIMES

2
BS a& R~ mm kg
g = DN1  DN2 a f h hi h2 h3 n n1 w s 1~ 3~
JSWm 2C Jsw 2c 13.0  13.0
JSWm 2B JSw 2B 1” 1” 9 388 201 147 33 180 180 142 22 10 14.0 140
JSWm 2A JSW2A 14.2 | 14.2
A
BS BE Bs BE
B 230V 240V 10V =7H 230V 400V | 690V | 240V | 415V | 720V
JSWm 2C 4.7A 4.5A 9.4 A JSW 2C 3.5A | 2.0A  1.2A 3.4A  19A  11A
JSWm 2B 5.8A 5.3A 11.6A JSW 2B 46A  27A 1.6A  4.4A 25A 15A
JSWm 2A 6.0A 5.5A 12.0A JSW 2A 51A 3.0A 17A  49A 28A 16A
582
BS
&18 = BEKRHE | BIEKREHE
JSWm 2C JSw 2¢ 72 96
JSWm 2B JSwW 2B 72 96
JSWm 2A JSW2A 72 96




JSW3

=893 E IR IR

&, BK

e FA

e EE
e ZAim&E: 160 I/min (9.6 m3/h)
* R=HIE: 96 m

iIZFEE

BEARE: 9m (HS)
ANERRE: -10 °C ~ +40 °C
INEIBE: +40 °C
BAT{EES: 10 bar

B T(E S1

SR 2intE

EN 60335-1 EN 60034-1
IEC 60335-1 IEC 60034-1
CEI 61-150 CEI2-3
INIE

BAEE (DNV ) EERREIAIE
i=: ISO 9001

iS4 150 14001

Ce

il @

LRMER

KFETHEASU LB IRMERRIR. JSSWRFLARTLUHE S
BLESSHKRIR.  RAKRERSE HaEr R, @NAT
ZRBE. TR TALAK , 40: EDELRXK, TEEFfIREERSE.

KRNELRERARR , FEDBRBRETTSIRIT.

&7 - iR - S ,
o SEARESIRE 013073135 JSW®
° RUERIFAR&ITS 002218610

aJisk
* HEREZ60HZIRE
o IPX5 BHIPELR



S PEDROUO
-

the spring of life
HRLRASEFN S8R 50Hz n=2900rpm HS=0m
0 5 10 15 20 25 30 35 40 usgpm.
L | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
0 5 10 15 20 25 30 351mp g.p.m.
|- feet
JSW3AH-N L § o i
. JSW3 |
250
70 -
. JSWBHN — jswaam-n i
% 60 200
m i
+§ JSW3CH-N | JSW3BM-N JSW3AL-N B
= 50 .
()
= 150
g |
40 i
T
o JSW3CM-N i
o
k- i
30 JSWICLN 1
20 I
L 50
10
0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 I/min
| T T T T 1\ T T T T é T T T T é T T T T ‘\‘ T T T T é T T T T é T T T T T T T T T 8\ T T T T é T T T T r‘nﬁ/h
Flow rate Q-i=Q»
BS =R (P2) m¥h 06 091215 1.8 21 24 2730 36 4248 60 72 84 96
EAiE =7H kw HP A I/min | 0 10 15 20 25 30 35 40 45 50 60 70 80 100 120 140 160
JSWm 3CH -N JSW 3CH -N 1.1 1.5 | IE2 64 60 55 51 48 45 425 40 39 37 34 31
JSWm 3BH -N JSW 3BH-N 1.5 2 \E3 76 70 67 64 61 |58 555 53 51 49 | 45| 41 39
= JSW 3AH -N 2.2 9% 90 86 82 79 75 715 69 66 64 58 54 50
JSWm 3CM-N JSW 3CM-N 1.1 1.5 |IE2 52 50 48 45 44 42 40 38 37 35 32 29 27|23 20
JSWm 3BM-N JSW 3BM-N 1.5 2 IE3 H metres 60 58 56 54 52 51 49 47 46 45 42 39 37 33 30
- JSW 3AM-N 2.2 74 70 68 67 65 63 61 |59 58 56 54 51 49 | 44 40
JSWm3CL -N JSW3CL -N 1.1 1.5 | IE2 42 40 39 38 37 36 35 34 33 32 30 28 26 23 20 17 15
JSWm 3BL -N JSW 3BL -N 1.5 2 IE3 51 48 46 45 44 |43 |42 41 40 |39 37 35 33 30|27 24 22
= JSW 3AL -N 2.2 62 60 58 57 56 55 54 53 52 51 49 47 45 42 39 36.5 35
Q=& H=13%E HS =KE HEAFIEAERTS EN ISO 9906 3B4.
A =iEEBHBEE R A(IEC-60034-30)
TR
IR%FE

LBl




RS At LEIINFE
1 TR SEEkERKAL TR, FFARISO 228/1 1BaizEn
2 FRRRBiRE ek
3[R FE1520PWERE#)
4 g =i
5 il EN 10088-3 - 1.4104 455N
6 iiREE i i #FE
BE BiF 227 b5/273 B
FN-18 @18 mm A% fFE NBR
7 K 6204 2Z /6204 ZZ
8 HZH - BE
Big (230V or 240V) (110V)
JSWm 3C-N 31.5 pF-450 VL 60 puF - 250 VL
JSWm 3B-N 45 pF-450VL 80 uF - 250 VL
9o Hi JSWm: B#8 230 V - 50 Hz S2ER BT BRI

JSW:  =#H 230/400 V - 50 Hz

w =K REEE SRR P2=1.1KW LI TEEHZER IE2, P2=1.5KWLA_EAIE3 (IEC 60034-30)

IR F R
PSR 1P X4

"=Jl\‘

e =N

e /

1



S PEDROUO
-

the spring of life
RIMES
f n )
2 -
13
=
2
=
Bme og R~ mm kg
f=2F | =i DN1 | DN2 a f h1 h2 h3 n ni w s 1~ 3~
JSWm 3CH -N | JSW3CH -N 25.3 233
JSWm 3BH -N | JSW 3BH -N 26.5 25.5
- JSW 3AH -N - 26.8
JSWm 3CM-N JSW3CM-N 25.3 233
JSWm 3BM-N JSW 3BM-N 1" 1” 141.5 522 241 165 44 209 206 164 30 n 26.5 25.5
- JSW3AM-N - 26.8
JSWm3CL -N JSW3CL -N 25.3 233
JSWm 3BL -N JSW3BL -N 26.5 25.5
- JSW 3AL -N - 26.8
LT)N
Be HE B HBE
J=2F 2] 230V 240V 110V =g 230V | 400V | 690V | 240V | 415V | 720V
JSWm 3CH -N 8.0A 7.3A 16.0 A JSW 3CH -N 55A | 3.2A 1.8A | 53A 3.1A 1.7A
JSWm 3BH -N 9.0A 8.2A 18.0 A JSW 3BH -N 69A 4.0A  23A 6.6A 3.8A | 22A
JSWm 3CM -N 7.9A 7.2A 15.8 A JSW 3AH -N 9.0A 5.2A 3.0A 8.6 A 5.0A 29A
JSWm 3BM -N 9.3A 8.5A 18.6 A JSW3CM-N 59A 3.4A  2.0A 57A  33A  19A
JSWm 3CL -N 7.5A 6.9 A 15.0A JSW 3BM-N 7.3A 42A | 24A 70A | 40A  23A
JSWm 3BL -N 9.7 A 9.0A 19.4 A JSW3AM-N 9.5A 55A | 3.2A 9.1A 5.3A 3.1A
JSW3CL -N 55A  3.2A  1.8A  53A 3.1A 1.7A
JSW 3BL -N 73A  42A | 24A 7.0A  40A 23A
JSW 3AL -N 95A 55A  3.2A  91A  53A  3.1A
o
BS
L2 =1 HEKRHE  BIEKRYE
JSWm3CH-N JSW3CH -N 35 49
JSWm3BH-N JSW3BH -N 35 49
- JSW 3AH -N 35 49
JSWm 3CM-N | JSW3CM-N 35 49
JSWm 3BM-N JSW3BM-N 35 49
- JSW 3AM-N 35 49
JSWm 3CL -N | JSW3CL -N 35 49
JSWm 3BL -N | JSW3BL -N 35 49
- JSW 3AL -N 35 49




